
COPYRIGHT 2007 ALLPART SUPPLY, INC. 

ALLPART SUPPLY, INC. 
 

Table of Contents 
 
 
 

 Lift Cables    Page 2 
 

 Bearings and Sheaves  Page 35 
 

 Leaf Chain    Page 37 
 

 Arm Pads    Page 39 
 
 
 

OTHER PRODUCTS NOT LISTED IN CATALOG 
 

Hydraulic Cylinders 
 

Hydraulic Hoses 
 

Hydraulic Fittings 
 

Anchor Bolts 
 

Power Units and Parts 
 

Slide Blocks 
 

Switches 
 

Lock Assemblies and Gears 
 

More Coming Soon! 



CABLE REFERENCE GUIDE

 1-800-381-1330
ALLPART SUPPLY, INC.

1 COPYRIGHT 2007 ALLPART SUPPLY, INC.





































































PART NUMBER "A" "B" "C" ROPE DIAMETER
AC-SP10PC-017 6-3/4" 1-1/2" 7/8" 7/16" ACANAS/ HYDR.
AM-040 4-1/4" 1" 5/8" 1/4" AMERICAN
AM-060 6-1/8" 1-1/4" 3/4" 3/8" AMERICAN
BD-5575310 3" 3/4" 5/8" 3/8" BEND PAK
BD-5575320 6" 3/8" BEND PAK
CH-31019 5" 1-3/8" 1" 3/8" CHALLENGER
CH-A1041 3-5/8" 1" 7/8" 3/8" CHALLENGER
CH-40050 CHALLENGER 4 POST
CH-36025 5" 1" 1" 3/8" CHALLENGER
EA301-116 8" 1" 3/4" 3/8" EAGLE / GEMINI
EA301-321 4-3/4" 1" 3/4" 3/8" EAGLE / GEMINI
EA-301-515 3-5/8" 1" 3/4" 3/8" EAGLE / GEMINI
EA-337-132 4" 3/4" 3/4" 3/8" EAGLE / GEMINI
EA-P52002 6-3/4" 1" 3/4" 3/8" EAGLE / GEMINI
FO-1070900 3-1/2" 3/4" 3/4" 5/16" FORWARD
FO-995020 4" 1-3/8" 3/4" 3/8" FORWARD
FO-995030 5" 1-3/8" 3/4" 3/8" FORWARD
RO-FC522-5 7" 1-1/4" 3/4" 7/16" ROTARY
RO-FC548 8-1/8" 1-1/2" 7/8" 7/16" ROTARY
RO-FC5804-2 8-7/8" 1-1/2" 7/8" 7/16" ROTARY
RO-N377 3-1/2" 3/4" 3/4" 1/4" ROTARY
RO-N417-1 3-1/2" 3/4" 3/4" 3/8" ROTARY
WE-S600 3/8" WESTERN

ALLPART SUPPLY

WIRE ROPE SHEAVES

AllPart Supply's wire rope sheaves are all steel and use the highest quality oil-impregnated bushings 
available.  Our sheaves have a protective coating to reduce rusting.

 1-800-381-1330
ALLPART SUPPLY, INC.

Page 35 COPYRIGHT 2007 ALLPART SUPPLY, INC.



PART NUMBER "A" "B" "C" NOTES
AM031-000 4" 3/4" 1-3/4" AMERICAN 7K

EA031-000 4" 3/4" 1-3/4" Heavy Duty Bearing
EA031-001 2-1/2" 3/4" 1-3/4" Heavy Duty Bearing
EA031-002 4" 1" 1-3/4" Pressed in Bearing
EA031-003 4" 1-3/8" 1-3/4" Pressind In Bearing
FO-102K07 2-1/2" 1-1/4" 1-3/4" Heavy Duty Forward Rplmnt Main
FO-102K08 2-1/2" 1-1/4" 1-3/4" Heavy Duty Forward Rplmnt Off
FO-996723 4" 1-1/4" 1-3/4" Heavy Duty Forward Replacement

AllPart Supply provides you with the highest quality chain sheaves (bearings) available.  Our bearings are 
custom-made to handle the heavy loads exerted by today's biggest lifts.  We have both pressed bearing 
sheaves and heavy-duty bearings made to fit your lift.

ALLPART SUPPLY

CHAIN BEARINGS

 1-800-381-1330
ALLPART SUPPLY, INC.

Page 36 COPYRIGHT 2007 ALLPART SUPPLY, INC.



PART NUMBER PITCH LACING DESCRIPTION COUPLING LINK #
LCBL-544 5/8" 4 X 4 BL 544 LEAF CHAIN LCCL-544
LCBL-634 3/4" 3 X 4 BL 634 LEAF CHAIN LCCL-634
LCBL-644 3/4" 4 X 4 BL 644 LEAF CHAIN LCCL-644
LCBL646 3/4" 4 X 6 BL 646 LEAF CHAIN LCCL-646
LCBL-666 3/4" 6 X 6 BL 666 LEAF CHAIN LCCL-666
LCBL-834 1" 3 X 4 BL834 LEAF CHAIN LCCL-834
LCBL-844 1" 4 X 4 BL 844 LEAF CHAIN LCCL-844
LCBL-1044 1-1/4" 4 X 4 BL 1044 LEAF CHAIN LCCL-1044
LCRC-80 1" ROLLER 80 SERIES ROLLER CHAIN LCCL-RC80
LCRL-85 1" ROLLERLESS 85 SERIES ROLLERLESS CHAIN LCCL-RL85

ENGINEERED CHAIN

ALLPART SUPPLY

AllPart Supply uses the same high quality leaf and roller chain as the OEMs.  We keep an extensive supply of 
engineered chain in stock for ready delivery.  Engineered chain can be ordered in bulk or pre-cut to the exact 
size you need.  Please order by pitch (one pitch is the distance between the pins) and specify male (Inner) or 
Female (outer) ends.

 1-800-381-1330
ALLPART SUPPLY, INC.

37 COPYRIGHT 2007 ALLPART SUPPLY, INC.



ENGINEERED CHAIN

 1-800-381-1330
ALLPART SUPPLY, INC.

38 COPYRIGHT 2007 ALLPART SUPPLY, INC.



ARM PADS REFERENCE GUIDE

 1-800-381-1330
ALLPART SUPPLY, INC.

39 COPYRIGHT 2007 ALLPART SUPPLY, INC.


